POCKET VINYL 29
CARD @0

STRIKE PLATE (2 PLS) (37)
RIVET (4 PLS) (13)

CABLE MGMT BAR (2 PLS) (8 X7

RACK X12 (3 PLS) (14—

STRAP (3 PLS) @/

HOUSING BAR (6 PLS) 21|

SPRING CLIP (6 PLS)
SCREW, #2-56 X 3/16" PH (12 PLS)

]

HOUSING (3 PLS) (10(9)—|

#6 WASHER (18 PLS)
#6 X 5/16" NUT (18 PLS)

UL LABEL (31)
WARNING LABEL (32)

LABEL (33)

t

5]

-

J

A

X

TN

AN
X ‘(‘w::x%‘x%x

VWOX
L

A

MOV

A\
D\

N

AN

-yl

‘4

N

A S S RS R S RS R B R RS B3 RS RS RS 3 S

P

MOON
A\
X000

A
7

19) CASE PROP BAR

17) SPRING CLIP, 1" LONG
39) SCREW, #2-56 X 3/16" PH (2 PLS.)

16) NEOPRENE GASKET

25) SCREW #8-32 X 3/8" (8 PLS)

SCREW #8-32 X 3/8" PH (6 PLS) (25)

ISOMETRIC VIEW (OPENED)
OCWSB864A
OCWS864B

(11) GROMMET (8 PLS)

(1(2) CABINET

(12) LATCH (2 PLS), SEE NOTE 1
(13) RIVET (4 PLS)

(15) CABLE HOLDER (12 PLS)

(22) STANDOFF M&F (12 PLS)

(23) STANDOFF (12 PLS)

(24) SCREW #8-32 X 1/2" FH (12 PLS)

—~—(5)(6) COVER (6 PLS)

(25 SCREW #8-32 X 3/8" PH (12 PLS)

OCWS8648

OCWS864A

ENCLOSURE, ASSEMBLY, CENTRAL SPLICE CABINET, BLACK
ENCLOSURE, ASSEMBLY, CENTRAL SPLICE CABINET, ALMOND

THIRD
ANGLE .@.m‘
P

T
LL OF MATERIAL [SHECED y MALTAIS

JYANIK _[OATE

T

SEE BILL OF MATERIAL

oATE o0 | CUSTOMER DRAWING,

APPROVED R B.SMITH |PNE

= _EQC C104395

NERTOWE s

CENTRAL SPLICE CABINET

043956 0FT [<AE__NONE_ [

2 | 1




